GENERAL NOTES:
1. ROLL—=UP SHUTTER SHOWN ON THIS PRODUCT EVALUATION DOCUMENT (P.E.D.) HAS BEEN VERIFIED FOR COMPLIANCE IN
ACCORDANCE WITH THE 2006 EDITIONS OF THE INTERNATIONAL BUILDING CODE, (I.B.C.) AND INTERNATIONAL RESIDENTIAL

CODE, (1.R.C.) WITH THE 2006 TEXAS REVISIONS, EFFECTIVE JANUARY 1, 2008.

THIS ROLL—UP SHUTTER MAY BE INSTALLED AT SEAWARD AND INLAND AREAS, AS DEFINED BY THE TEXAS DEPARTMENT OF
INSURANCE.

DESIGN WIND LOADS SHALL BE DETERMINED AS PER SECTION 1609 OF THE INTERNATIONAL BUILDING CODE, FOR A BASIC
WIND SPEED AS REQUIRED BY THE JURISDICTION WHERE SHUTTER WILL BE INSTALLED, AND FOR A DIRECTIONALITY FACTOR

(C) TO EXISTING WOOD FRAME BUILDING: SOUTHERN PINE #2 W/ G=0.55 OR DOUGLAS FIR W/ G=0.42 MIN.
—~1/4” @ TAPCON, ITW BUILDEX PER N.D.S. 2005.
NOTES:
C.1)  MINIMUM THREADED PENETRATION OF TAPCON ANCHORS INTO TO WOOD FRAME UNIT SHALL BE 1 1/2". NO THREADED
PENETRATION INTO TO STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED THREADED PENETRATION.
C.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, ANCHORS SHALL BE LONG
ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS.

(D) ANCHORS SHALL BE INSTALLED FOLLOWING ALL OF THE RECOMMENDATIONS AND SPECIFICATIONS OF THE ANCHOR'S MANUFACTURER.

ANCHORS REQUIRED FOR STORM BARS, HEADERS & MULLION CONNECTIONS TO CONCRETE (fc'=3 ksi) SHALL BE AS SPECIFIED ON

Kd=0.85, IN ACCORDANCE W/ ASCE 7-05 STANDARD. s
ROLL—UP SHUTTER ADEQUACY FOR IMPACT AND CYCLIC RESISTANCE HAS BEEN VERIFIED IN ACCORDANCE WITH SECTIONS APPLICABLE SECTIONS SHOWN ON SHEETS 5, 6. 7 & & OF 13 RESPECTIVELY.
1609.1.2 AND R301.1.3 OF THE ABOVE MENTIONED CODES, RESPECTIVELY, AS PER FENESTRATION TESTING LAB REPORTS
#6242, 6243 AND 6244 (SLATS AND MULLION), #6536 (STORM BARS) PER ASTM E 1886-05, £ 1996—05, AND E 330-02 _gﬁfggE/(/NAévAéCH%%@SATsO AZEI_\/ 5,.% MAN%FACBT)I/#;/TEMQ gY gg_)ngff'icFASTENERS, INC.
STANDARDS., QUALIFYING INSTALLATIONS FOR WIND ZONES 1, 2 & 3, MISSILE TYPE D, AND FOR INSTALLATIONS AT NON -7 CTURED W BUILDEX, INC.
ESSENTIAL FACILITIES AS DEFINED BY SECTIONS 6.2.1.1, 6.2.1.2 AND 8.3 OF ASTM E 1996—05. —410 S.S. WEDGE-BOLT ANCHORS AS MANUFACTURED BY POWERS FASTENERS, INC.
MINMUM EDGE DISTANCE AND SPACING FOR ABOVE MENTIONED ANCHORS SHALL BE AS INDICATED BELOW OR AT ABOVE MENTIONED
2. ALL ALUMINUM EXTRUSIONS SHALL BE ALUMINUM ASSOCIATION 6063—T6 ALLOY AND TEMPER, WITH Fy = 25.0 ksi MINIMUM SHEETS. EDGE DISTANCE AND EMBEDMENT ARE BEYOND ANY FINISH MATERIAL.
(UNLESS OTHERWISE NOTED). THE THICKNESS OF ALL EXTRUSIONS SHALL BE AS SHOWN ON THIS DRAWING. MINIMUM EMBEDMENT
ANCHOR SPACING EDGE DISTANCE POURED CONCRETE CONCRETE BLOCK
3. ALL SCREWS & BOLTS INSTALLED AT SEAWARD AREAS TO BE STAINLESS STEEL 304 OR 316 AIS| SERIES AND MEET ASTM :%j g econ 20 H ' 75//;,, ((I{Z’: fe=nez If:,.’)) /4" (ASTM C=90)
A167, OR HOT DIPPED GALVANIZED(AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED —3/8" CALK—IN 3 34" 412" 1 1/4" (Min. Fe=3000 psi) _
GALVANIZED OR GALVANNEALED(PRIOR TO FABRICATION) AND MEET ASTM A653 WITH 50 ksi YIELD STRENGTH AND 90 ksi -5/16"8 TAPCON XL 3 3/4" 4" - 1 3/4" (ASTM C-90, GROUT FILLED)
TENSILE STRENGTH, PER 2006 TEXAS REVISIONS TO SECTION 1716.1.1 OF THE 2006 I.B.C. AND SECTION R325.1.1 OF THE —3/8" 410 S.S. WEDGE-BOLT 4 1/2" 4 1/2" 2 1/2" (Min. fc=3000 psi) -
2006 |R.C. -1/2"0 410 S5.5. WEDGE-BOLT 6” 6" 3" (Min. f'c=3000 psi) -
9. A-200—H SLATS FOAM PLASTIC CORE SHALL CONSIST OF 100/100 PARTS BY WEIGHT OF ELASTOPOR R P12041 R(1.06 SPECIFIC
4. ALL SCREWS & BOLTS INSTALLED AT INLAND | AREAS TO BE STAINLESS STEEL 304 OR 316 AlSI SERIES AND MEET ASTM GRAVITY) RESIN + ELASTOPOR R P1007 U (1.22 SPECIFIC GRAVITY) ISOCYANATE.
4167, OR HOT DIPPED GALVANIZED(AFTER FABRICATION) CARBON STEEL AS PER ASTM A123 OR ASTM A153, OR HOT DIPPED
GALVANIZED OR GALVANNEALED(PRIOR TO FABRICATION) AND MEET ASTM A653; HOT DIP GALVANIZED OR ELECTRO GALVANIZED SLATS FOAM PLASTIC CORE SURFACE BURNING CHARACTERISTICS HAVE BEEN VERIFIED IN ACCORDANCE WITH SECTION 2603.3 OF THE
PER ASTM A641, MECHANICALLY DEPOSITED ZINC COATINGS PER ASTM B695 OR ELECTRO DEPOSITED ZINC COATINGS PER INTERNATIONAL BUILDING CODE AS PER CELOTEX CORPORATION TEST REPORT #520274A & 5202748 RESPECTIVELY.
ASTM 8633, PER THE 2006 TEXAS REVISIONS TO SECTION 1716.1.2 OF THE 2006 1B.C. AND TO SECTION R325.1.2 OF THE 10. IT SHALL BE THE RESPONSIBILITY OF THE CONTRACTOR TO VERIFY THE SOUNDNESS OF THE STRUCTURE WHERE SHUTTER IS TO BE
2006 L.R.C. ATTACHED TO INSURE PROPER ANCHORAGE. THIS SHUTTER SHALL ONLY BE ATTACHED TO CONCRETE, BLOCK OR WOOD FRAME BUILDINGS.
5. STORM BARS AT FLOOR AND CEILING MOUNTING INSTALLATIONS MAY BE REMOVABLE AT NON HURRICANE CONDITIONS. 11. THE INSTALLATION CONTRACTOR IS TO SEAL/CAULK ALL SHUTTER COMPONENT EDGES WHICH REMAIN IN CONTINUOUS CONTACT WITH THE
HOWEVER, EACH STORM BAR SHALL BEAR A PERMANENT LABEL IN A VISIBLE PLACE WITH A WARNING NOTE INSTRUCTING THE BUILDING TO PREVENT WIND/RAIN INTRUSION.
TENANT OR OWNER THAT STORM BARS MUST BE INSTALLED WITH CORRESPONDING HARDWARE DURING PERIODS OF
HURRICANE WARNING AND THAT ROLL UP SHUTTERS WILL NOT OFFER HURRICANE PROTECTION UNLESS ALL STORM BAR ARE 12. ROLL=UP MECHANISM NOT PART OF THIS APPROVAL. A
INSTALLED AS DIRECTED. 13. ROLL~UP SHUTTER INSTALLATION SHALL COMPLY WITH SPECS INDICATED IN THIS DRAWING PLUS ANY BUILDING AND ZONING REGULATIONS
o ; PROVIDED BY THE JURISDICTION WHERE PERMIT IS APPLIED TO.
6. REMOVABLE STORM-BARS SHALL BE STORED IN A CONSPICUOUS PLACE WITH EASY AND IMMEDIATE ACCESS SO THAT THEY
CAN BE REACHED AND INSTALLED ANY TIME (HURRICANE CONDITIONS OR NOT) SLATS ARE ROLLED DOWN. THE EFFECT OF 14. (a) THIS P.E.D. PREPARED BY THIS ENGINEER IS GENERIC AND DOES NOT PROVIDE INFORMATION FOR A SITE SPECIFIC PROJECT; ie.
THE SLATS ROLLED ‘DOWN WITHOUT STORM BARS IS; THOSE SLATS WILL SLIP OUT OF TRACK DUE TO THE DEFLECTION WHERE THE SITE CONDITIONS DEVIATE FROM THE P.E.D.
CAUSED BY WIND FORCES.

” ‘ (b) CONTRACTOR TO BE RESPONSIBLE FOR THE SELECTION, PURCHASE AND INSTALLATION INCLUDING LIFE SAFETY OF THIS PRODUCT,
WHEN REMOVING STORM BARS, ONE STORM BAR SHALL ALWAYS BE LEFT INSTALLED (SHALL NOT BE REMOVED). THIS BASED ON THIS P.E.D. PROVIDED HE/SHE DOES NOT DEVIATE FROM THE CONDITIONS DETAILED ON THIS DOCUMENT. CONSTRUCTION
COND/T/ON 1S ONLY REQUIRED FOR HEADER SPANS EQUAL OR GREATER THAN 12'-0. SAFETY AT SITE IS THE CONTRACTOR'S RESPONSIBILITY.

CHORS TO WALL FOR SIDE RAILS & BOX CONNECTION SHALL BE AS FOLLOWS: (UNLESS OTHERWISE NOTED). EMBEDMENT (c) THIS P.ED. WILL BE CONSIDERED INVALID IF ALTERED BY ANY MEANS.

DISTANCE ARE BEYOND ANY FINISH.
(d) SITE SPECIFIC PROJECTS SHALL BE PREPARED BY A PROFESSIONAL ENGINEER OR REGISTERED ARCHITECT WHICH WILL BECOME THE
N . ENGINEER OF RECORD (E.O.R.) FOR THE PROJECT AND WHO WILL BE RESPONSIBLE FOR THE PROPER USE OF THE P.E.D. ENGINEER
(A) 0 S ING POURED CONCRETE (fo=3192 psi Min): OF RECORD, ACTING AS A DELEGATED ENGINEER TO THE P.E.D. ENGINEER, SHALL SUBMIT TO THIS LATTER THE SITE SPECIFIC
—1/4” 8 TAPCON ANCHORS AS MANUFACTURED BY ITW BUILDEX, INC. DRAWINGS FOR REVIEW.
NOTES:
A1) MINIMUM EMBEDMENT OF TAPCON ANCHORS INTO POURED CONCRETE SHALL BE 1 3/4" NO EMBEDMENT INTO (e) THIS P.E.D. SHALL BEAR THE DATE AND ORIGINAL SEAL AND SIGNATURE OF THE PROFESSIONAL ENGINEER OF RECORD THAT
STUCCO SHALL BE CONSIDERED AS PART OF THE REQUIRED EMBEDMENT. PREPARED 1T.
A.2) IN CASE THAT PRECAST STONE, PRECAST CONCRETE PANELS, OR PAVERS BE FOUND ON THE EXISTING WA'L OR 15. SHUTTER MANUFACTURER’S LABEL SHALL BE LOCATED ON A READILY VISIBLE LOCATION AT ROLL-UP SHUTTER IN ACCORDANCE WITH THE
FLOOR, ANCHORS SHALL BE LONG ENOUGH TO REACH THE MAIN STRUCTURE BEHIND SUCH PANELS. TEXAS DEPARTMENT OF INSURANCE REQUIREMENTS. ONE LABEL SHALL BE PLACED FOR EVERY OPENING.
(B) TO EXISTING CONCRETE BLOCK WALL (ASTM C-90): TEXAS DEPARTMENT INSURANCE-2008
—1/4” 8 TAPCON ANCHORS, AS MANUFACTURED BY ITW BUILDEX, INC.
NOTES: ROLL~UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
B.1) MINIMUM EMBEDMENT OF TAPCON ANCHORS, INTO THE CONCRETE BLOCK UNIT SHALL BE 1 1/4" ) W RLL 55-X AND A-200-H SLATS DRAWN BY
B.2) IN CASE THAT PRECAST STONE OR PRECAST CONCRETE PANELS BE FOUND ON THE EXISTING WALL, A/I;;g?ESg}OAZéL/EZG‘///&'E? E.
R ACH THE MAIN STRUC HIND SUCH PANELS. 03/10/10
ANCHORS SHALL BE LONG ENQUGH TO REACH THE M, TURE BEHIND SUCH EL ROLLAC SHUTTERS OF TEXAS, INC. i
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, fL 33166 5331 ORANGE STREET
PHONE (305) 871-1530 FAX (305) 871-1531 PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
TEXAS LIC. # 90691 DRAWING No
< vl /_) F/RM REGISfRA T’ON # F- 15790 REV. No DESCRIPTION DATE REV, No DESCRIPTION DATE
P.E. SEAL / 16 /\H,JPI:/ ATE p REFORT €536 103/12/12] 5
p ; SHEET 1 OF 13




=
P/4

TYPICAL SINGLE UNIT ELEVATION (NO STORM BARS REQUIRED)

|- MAXIMUM STORM BAR SPAN (SEE SCHEDULE) -~

TYPICAL MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE.

= Mox. MULLION SPAC/NG‘-!

?4—Max. HEADER SPAN &
Max. MULLION SPACING (SEE SCHEDULE)

NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE.

Der®©

MAXIMUM HEADER SPAN (SEE SCHEDULE)

@»X/‘z /—-@ bu-3/8  Pv/s67,— :) — )@o,z@

/ i 7 2 / 7 §\®
&7 o og; '

7 7 % \V/' 7
Z % % 5/5.6,7— —5/5,6,7—5/56,7—| L_5/56,7 7
Z 7 Dor = = = = 7
; A < Z < (e) = é-: = 2 <
% P4 P/4___ f P/4 P/4 ; L p/4 P4 e % P/4
. . 0er0—4 _ &
/ / (Typ.) % %
7 7 7 7
7 ,———Or@——4 7
% Z ] %
2 7 (Typ. Eo. END) 2, 5/5.6.7 | [ =5/56,7— /5,67 [ ~5/567. 7

b4 Mox. SLAT SPAN (SEE SCHEDULE) hW—3/ s 'ﬂ&v/ 6.7 | l

Vax. SLAT SPAN (SEE SCHEDULE) Max. STORM BAR SPACING (SEE SCHEDULE)

(SEE SCHEDULE)

TYPICAL CONSECUTIVE SINGLE UNIT ELEVATION (NO STORM

BARS REQUIRED)

/ﬁ 1/8 III{»W—f/a / : J@ w-2/5 b v/567 w-2/8 / : /@ Wl
®\/ L A L A A
J T 7T (Bor T 1 T/ | 1. Q@

O @ A I ! i 1 r
9 * AV B
§ | i 1 I \@OR@ | S/5,6,7— [T—5/5,6,7 | -5,/5,6,7— —5/5.6,7] | §§
: | I i Ao O—]] s == = =l N
8 — — (%5.) , = | 5y
: @@ | | | S eS| ds
: | _—l== o= ==
I = el Y Olok, ] & §3
=z I I (e | I | <3
S 1, —< ] 1. S3
| I I P)or i s/5677 =s/567] | —~ = o
= = : = (Typ. Eo. END) H ] 1 R4 | =4 § =

| — — I [ =l I 5
, il Il | Il il 1
N ; \b\\\\\\\\\\\\ 1\\\\\\\\\\\\\\ NNANNANNNNN ‘i\\1\~\\ ANV SNNNNN ﬂ\\\\\\‘ N N RN RN
\@ {1/8 b |w-1/8 Vo SLAT SPAN E[H} W—2/8 /56,7 ﬂ W-2,/8 bill vs.67 H
Max. SLAT SPAN Max. :éi?{él:ﬁ%pé}%‘:SPAC/NG ! i |}

TYPICAL CONSECUTIVE MULTIPLE UNIT ELEVATION (STORM BARS REQUIRED)

NOTE: SEE SHEET 2 & 3 OF 13 FOR COMPONENTS NOMENCLATURE.

NOTE: SEE SHEET 2 & 3 QF 13 FOR COMPONENTS NOMENCLATURE.

TEXAS DEPARTMENT INSURANCE-2006

P.E. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871-153C FAX (305) 871-1531

TEXAS LiC. # 90691

ROLL~UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55-X AND A—-200—-H SLATS DRAWN &Y
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10—-035
DRAWING No

FIRM REGISTRATION # F—13790

REV.

No

DESCRIPTION

DATE REY. No DESCRIPTION DATE

7

3

2

4

SHEET 1A OF 13




RLL 55—-X SLAT
5061—T6 OR 6005-T5 ALUM. ALLOY

1/8°%25/32"SLOTTED VENTS
@1 9/16" 0.C. ALLOWED.

492"
244~
— .f!?"
.
hel

> N

2.165"

| ~—FOAM PLASTIC CORE
(SEE GENERAL NOTE 9
ON SHEET 1 OF 13)

531"

TYPE 2 SLAT:
A=200—-H SLAT
55mm (t = .019") HIGH
DENSITY FOAM PLASTIC CORE
SHEET METAL ALUMINUM SLAT
3005—-H48 ALUMINUM ALLOY

S 125" j - I
: AT
Gulin
L 3
TYPE 2 HEADER: TYPE 3 HEADER:

4" EXTRUDED HEADER
6063~T6 ALUMINUM ALLOY

-2.000™

000"

(8)INSIDE MOUNT ALUM. ANGLE:

EXTRUDED ALUMINUM
6063—~T6 ALUMINUM ALLOY

1"x4” EXTRUDED HEADER
6063~T6 ALUMINUM ALLOY

-3.000"

3" Max.
Min,

Pt I aa 125°
- (Typ.)

(Y) _BUILD-OUT TUBES

3"%3” EXTRUDED TUBE
6063~T5 ALUMINUM ALLOY

COMPONENTS

SCALE: 1/2" = 1”

6.000"

2.000™

4.000"

—-1.250"
Tve.)

(E) TYPE_1_STORM BAR:

4" HEAVY EXTRUDED STORM BAR

6063—-T6 ALUMINUM ALLOY

250"
(tve.)

TYPE 1 MULLION:

6" EXTRUDED MULLION
6063—T6 ALUMINUM ALLOY

2.000"

1252
(Tvp.}

4
4.

TYPE 2 STORM BAR:

2.000"

3.000"

1255 —

(Typ.)

4" EXTRUDED STORM BARS
6063—T6 ALUMINUM ALLOY

4.000"

TYPE 3 STORM BAR:

4.000";

25"
(Typ.)
~|—.062"

3" EXTRUDED STORM BARS
6063-T6 ALUMINUM ALLOY

—.250"

(Typ.)

2.000™

TYPE 1 HEADER:

4" HEAVY EXTRUDED HEADER
6063~T6 ALUMINUM ALLOY

|—1.725"—

!

2

M) TYPE 2 MULLION:

~ [-.141"

i)

os5” |

1.320"—
2.969"

)1—1.509'

(P) TYPE 1 SIDE RAIL

N .
8 g 8 8 509" o R
> S : 800"
| ¥ i { | R
'y . ‘(: 1 .062* ——" N
Y g TRy
- f 2 )
i 1 RS2 —Lj
g ] _—] i
¥ 8 |—g77 1.309" 8
: 2.500"

4" EXTRUDED MULLION

6063—T6 ALUMINUM ALLOY

RLL—40 SIDE RAIL
6063-T5 Alum. ALLOY

TYPE 2 SIDE RAIL

RLL—1 SIDE RAIL
6063—T5 Alum. ALLOY

TEXAS DEPARTMENT INSURANCE-2006

P.E. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871-1530 FAX (305) 871-1531

TEXAS LIC. # 90631
FIRM REGISTRATION # F—-13790

REV. No

DESCRIPTION DATE REV. No DESCRIPTION DAYE

ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55-X AND A-200—-H SLATS DRAWN BY
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
DRAWING No

3

4

SHEET 2 OF 13




- . 149"

164" ,}{
. 732” i~ ‘

—
047"
YP.
S
5 N
< 296" § @
NK
. : IR
180" :H - § R |8
.484 RLL-6 “ST N S|4
~ N 8
FOR A-200-H & RLL 55-X SLATS STUB DETAIL N
EXTRUDED ALUMINUM (N. T. S.) N\
6063-T6 ALUMINUM ALLOY <
(4) DETAILS i
__45' CHAMFER
@ SIDE CAPS: AS APPLICABLE
BK 90, BK 45 & BK 45/S
COMPONENTS FOR GEAR OPERATED SYSTEM
() - cear
— UNIVERSAL & CRANK SIDE. CAP HEIGHT SCHEDULE
RV 458 RV 45/S — CRANK HOLDER(OPTIONAL) vee| g0 45
— GEAR INSERT(GEAR TO AXLE CONNECTOR) 7 70" N/A
HOUSINGS (5) — IDLER INSERT > 50" N
(6) — BALL BEARING 3 YD W
(Z) — OCTAGONAL AXLE * . -
(8) — ENTRY GUIDES (ONLY FOR A-150-H SLAT) 4 6.0 6.0
(9) ~ SIDE/END CAP * 5 6.5" 6.5"
G0 ~ HOUSING(FRONT & BOTTOM), 0.040" THICK 6 70" | 70"
45" CHAMFER 17 - SIDE RAIL 7 8.0" 8.0"
AS APPLICABLE @ — PLUG-BUTTOMS 8 9.0" 9.0”
3) — ALUMINUM SLATS W/PLASTIC SLAT LOCKS @ EVERY OTHER SLAT W/ (2) #4x1" FH. SMS. [ 00" 0.0
(9 - BASE SLAT : -
10 N/A 12.0
— SPRINGLOCK HANGER
(9 — SAFETY PLATES N/A = NOT APPLICABLE
ADDITIONAL _COMPONENTS FOR
MOTORIZED OPERATED SYSTEM [+ SHALL BE CAPABLE TO SUSTAIN SLAT'S WEIGHT AND ASSURE LIFTING
@0 - TUBULAR MOTOR MECHANISM (SEE NOTE 12/1).
@10) — MOTOR BRACKET
@2 - SswiTcH
e FASTENERS

@3) - 3/16" ALUMINUM POP RIVETS (6 REQ'D EA.
SIDE CAP) : 2 @ TOP, 2 @ REAR, 2@ BOTTOM

DETAILS)

@ TEXAS DEPARTMENT INSURANCE-2006
) ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55-X AND A-200-H SLATS DrAWN BY
0 @ o ‘ . WALTER A. TILLIT Jr. P.E.
ST PR e e PROFESSIONAL ENGINEER 03/10/10
N trememmmm—e? ROLLAC SHUTTERS OF TEXAS, INC. DATE

e / s ‘ e CAtDENS, Py 33168 5331 ORANGE STREET

\/Z/\ 58;/ /f f’{ / / ‘?’f! T FPHONE (305) 871-1530 FAX (305) 871-1531 PEARLAND, TX 77581
o . MRS TEXAS LIC. # 90691 PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
‘ - - DRAWING N
(V) BOX COMPONENTS AND ASSEMBLY DETAIL R Y =T oA B :

(SEE NOTE 12 ON SHEET 1) P.E. SEAL/SISNATURE/DATE ] 2 SHEET 3 OF 13
2 4




TAPCON ANCHORS

(SEE SCHEDULE ON

SHEET 13 OF 13)

LI

BRI | R
< i

POURED CONCRETE OR
CONCRETE BLOCK
REQUIRED P
ED. '
I-———(SEE SCHEDULE ON_-A-_._
SHEET 13 OF 13) EREDS

"",' .

£0. | £ %
nJ \ '
| W=©
ax. 0@
X1 l >

SECTIONP-P (1) : WALL MOUNT

TAPCON ANCHORS.

POURED CONCRETE
OR CONCRETE BLOCK

TAPCON ANCHORS REQUIRED

ED.

Yol (SEi £ ON ED. 'SEE SCHEDULE O
‘ . . £ _SCHEDUL I__(SEE SCHEDULE ON——'- ¢ (SEE_SCHEDULE ON
1/47%0 x 3/4" ITW SHEET 13,0F 13, N\ SHEET 13 OF 13) 3, 3
BUILDEX TEK SCREW @ POURED CONCRETE M . S’HEENS 0Fi13). . e SHEET 13,08 w);
v 4" 0.C. FOR SLAT@ OR OR CONCRETE BLOCR ,i, BT ENREE || . s ) (A e
L 5" 0.C. FOR SLAT © REQUIRED P TR RY || -4. : S0l
Tat e - T
TAPCON ANCHORS o
(SEE SCHEDULE ON A <]:U X2 OR@ [ 1"%4" P.T. SOUTHERN
SHEET 13 OF 13) N ol o PINE #2 OR DOUGLAS
= - ! - FIR WOOD PLANK i
e . (&or i |
/ 3
N y y @ Q. | Fo.
ED.  wel. I L 1/4°8 x 3/4" TW -
(SEE SCHEDULE ON '~ . U] =252 BUILDEX TEK SCREW © ——1 /\ ! fLS?_SJ
SHEET 13 OF 13):- . 4" 0.C. FOR SLAT® OR ’/4
e Nleo k0 f | 5" 0.C. FOR SLAT© @OR@ [:D} e OR@
POURED CONCRETE X3 Z
OR CONCRETE BLOCK v R T / l @0,?@
REQUIRED - J e /4" s es 2 /
Jae P IR ¢ i
R i R Max.
L T SECTION P- P (3) : B.O. (OPTION)
/e_Se.5) N.T.S.
1/4" Max.

SECTION P - P (2) : SIDE WALL MOUNT

N.T.S.

POURED
CONCRETE
REQUIRED
1" x 2" x 1/8” Alum.
PLATE W/ 1/4°¢ TAPCON
/ ANCHORS © 24" 0.C.

i
TAPCON ANCHORS
(SEE SCHEDULE ON
SHEET 13 OF 13)

EXISTING
GLA

BLOCK

/

1" x 2" x 1/8" Alum.

PLATE W/ 1/4"2 TAPCON
ANCHORS @ 24" O.C.

/

POURED CONCRETE

!'——" REQUIRED

N.T.S.

®OR@—/ X3

»

SECTION P - P (3): BUILD-OUT

/@m@

N.T.S.

Cont. 1'x2", 2"x2” OR 2"x3'%x1/8"

ALUMINUM TUBE W/ 1/4 (4
TAPCON ANCHORS
@ 24" O.C.

1" x 2" x 1/8" Alum. PLATE
W/ 1/4"0x3/4" TEK SCREW
ANCHORS ® 24" 0.C.

Cont. Alum. ANGLE

TAPCON ANCHORS
@ 24" 0. C.

SECTION X-X (1)

N. T. S

TAPCON ANCHORS -4l T
(SEE SCHEDULE ON ——]
SHEET 13 OF 13) _
" Min.
SEPARATION
GLASS

@O
"x 2" x 125" Q)
Cont Alum. ANGLE -

®=@ ]

T i,ﬁ - - _}
R T ; SN
: \/ .:\ - ’ A. I POURED CONCRETE (_B / |
N | a I gz Gocrere aLock o |
| S 14 Coa 5«4: x — _JI
=== = oA T

TAPCON ANCHORS
(SEE SCHEDULE ON

SHEET 13 OF 15)\(
Il

S

POURED CONCRETE
OR CONCRETE BLOCK
| REQUIRED

REQUIRED

SECTION X-X{(2)

N T S

POURED CONCRETE

BUILDEX

"x 3°0R 2° x 3" OR
.062" Cont. ALUMINUM ANGLE

><~4

1/4% x 3/4" [TW

4" 0.C. FOR SLAT OR—
5" 0.C. FOR SLAT%

1/4" x 3/4" ITW
BUILDEX TEK SCREW @
4" 0.C. FOR SLAT%O
5" 0.C. FOR SLAT

OLO)
—=n/
2

!

_re_se_s)
1/4"

Max.

(B)or D> wis

SECTION Q- Q : MULLION MOUNT

® OR@ -

@0

oL ONY

TEK SCREW @

VA

1/4°8 x 3/4" ITW
BUILDEX TEK SCREW ©
4" 0.C. FOR SLAT® OR
5" 0.C. FOR SLAT ©

Xz

\
o

Ees=s )
EQ | FO.
ES=S\ n U n_
1747 ‘ D 1/4" / 1/4
Max. Wo1 Max. ( : > OR Max.

SECTIONR - R : MULLION MOUNT

SECTIONR - R : MULLION MOUNT

mecon mickors SECTION X - X (3) TS 7S
N. T. S
TEXAS DEPARTMENT INSURANCE—-2006
ROLL-UP S‘HUTTER/ WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55~X AND A—-200-H SLATS DRawN BY
WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER 03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
X 6355 N.W. 36 STREET, STE. 305

/ VIRGINIA GARDENS, FL 33166 5331 ORANGE STREET

/ ,/ f / / e PHONE (305) 871—1530 FAX (305) 871~1531 PEARLAND, TX 77581
‘ PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
TEXAS LIC. # 90691 PRAWING No

- = SHEET 4 OF 13




1" x 2" x 1/8" Alum. PLATE " . et 5 e 1 1/2°%1 1/2°%1/8%0'=3"
17 x 2° x 1/8" Alum. PLATE W/ 1/4"% TAPCON ANCHORS s 3 ! ’S/ngA} ;A/lg ’5%%{ FOR INSTALLATION INTO CONCRETE, 750" 750" ALUMINUM ANGLE W/ (1) 3/8"%
POURED CONCRETE WITH 4" w 1/4°0 TAPCON ANCHORS @ 24" 0.C. X NGLE EA. SiDE USE (2) 1/470 TAPCON ANCHOR AT 410 SS WEDGE-BOLT W/2 1,/2"
MIN. THICKNESS REQUIRED @ 24” 0. N — Alum. _4 : EACH SIDE FOR ANY SLAT SPAN, Min. EMBEDMENT AT EACH SIDE.
(Fe=3000 ps.i. MN.) N | P STORM EAR SPAN AND DESIGN L0AD. ¢ T
. N ‘
g / ’ . N N FOR INSTALLATION INTO CONCRETE, R
RN 3y N ™ USE (1) 3/8" 410 SS WEDGE—BOLT 3 .
[ )y = / ™ ! f N ./\/_ ANCHOR W/ 2" MIN. EMBEDMENT AT @ @ Q|
L‘r" g | . \ EACH SIDE FOR ANY SLAT SPAN, =
S I POURED CONCRETE WITH 4 / ] ) a
I .I__._e___e o ; MIN. THICKNESS REQUIRED \ \I I NP 1N9”) STORM BAR SPAN AND DESIGN LOAD.
hooos - 1 (Fe=3000 p.s.i. MiN.) / Y ] ! | D0 | —FOR INSTALLATION INTO HEADERS 5
I ! : : / ™ ! 227 DW / | N INZR. USE (2) 1/4"0x3/4" TEK SCREW g
I < , \ ! I___. Y i S AT EACH SIDE. N
I | | } ! | - ///{ ! L@ \—(2) 1/4" x 3/4" TEK SCREW /
T T I AT EACH SIDE.
1] | ] // : P \_ L - -
I : : / /4! I )y e et SECTION S — S (FOR FIXED STORM BAR f/ﬁff OF fr,)s%; f’SIgEJ/‘f TEK SCREW
o < 1d . » o ” .
i b e I I opriomaL SOALE -1/t = SECTION S2 — S2
! ! Lo gy ) SCALE : 1/4" = 1"
Vs b o ;
i 1.000"—! {} MNeaaee————— AN " 15 %_——— FOR INSTALLATION INTO CONCRETE,
W (Min) | il OPTIONAL ‘[ Hf USE (2) 1/478X7/8" CALK—IN *
I | 1 1 1/2%1 1/2°%1/8” ANCHOR AT CENTER OF ANGLE EACH _
] | . . .
1l | | 1k & [=3/4"==3/4"~ x STORM BAR DEPTH SIDE FOR ANY SLAT SPAN, STORM a —~—
I ! : ! I OR Alum. ANGLE EA. SIDE, BAR SPAN & DESIGN LOADS.
1 | il 1.000"——~| e uen ' A : - ~TMACHINE SCREW
i | , (Min.) 1 il R | / .4 | FULLY EMBEDDED
" /}: 5 o o @ or @ |~ 3 > = \gwro ANCHOR
& : | il S = N <
EXISTING I ] 1 s2 ] s2 o P v _ I~ ANCHOR
X ouass i } 1 1 ! L
Q 3 |IT T | <
S, i | ] {S ! } 4 ; Lk < FOR INSTALLATION INTO HEADERS \/‘ =
i ! A ST —] B i d ol o : K ki DETAIL_A
Sy ‘ | ! 3 . - == .
2 i | e ! il xS NP 2 SCALE : 1/2" = 1
s i i | @ ! ! | 1 N NN
T I f—® -0 \
"E I ] : j : } : =il f \__(2) 1/4"9-20 S.5. MS X 1/4"0—20 MACHINE SCREWS USED JOINILY W/ 1/4"ex7/8”
$3 i ! Wit | ] =il ! W7 /8703 32" WING NUT CALK—IN ANCHORS RESPECTVELY SHALL BE LEFT TOGETHER W/
oz 1 ! e |t ! SEPARATION TO 6Lass YT ! ! /8"0x3/. ANCHORS AT THE TIME STORM BARS ARE REMOVED. (SEE DET. A).
L || . A | . G
8 R | )
oy Il separation 70 GLASS | 1 | t; A ?\‘f OR @
8 SEE SCHEDULE ON -
£§ v et o or 15 1| () = (©) - /\l S— (aEvOND) SECTION S = S (FOR REMOVABLE STORM BAR
A 1 C P »o_ 7 ”
:: R SCALE
26 i ! /\l R ! P ) oR @ | ‘ V | 1,000 _1.000" 1.000" _1.000"
3 (BEYOND) 1.000” 1 !
3 (Min.) | | i ! POURED CONCRETE WITH 4"
X i T I g, i IN. THCKNESS REQUIRED OR
3 i 1] I } e | , .~ GROUT FILLED CONCRETE BLOCK
i i : .!2 Ll | /. VAN
| | ,
! ! ! ! -+——-—-’r"’@ oR @ : = N\ £pee o

1
s

BOTTOM SLAT

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED
(F'e=3000 p.s.i. MIN.)

[

2"x4"(MAX.)x1/4x0'=4 1/2" Alum.
ANGLE W/ (2) 3/8" 410 SS

WEDGE—-BOLT ANCHORS W/ 2" Min.
EMBEDMENT TO POURED CONCRETE

POURED CONCRETE WITH 4"
MIN. THICKNESS REQUIRED

(F'c=3000 p.s.i. MIN.)

CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION W,
FIXED OR REMOVABLE STORM BARS W/CONCRETE ANCHORS

FOR 1/4"8 TAPCON ANCHORS

OR 1/4"¢ CALK—IN ANCHORS
FOR 3/8"@ 410 SS WEDGE-BOLT
ANCHORS

( SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT)

N.T.S.

SINGLE SPAN SECTIONS AND DETAILS

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

REQUIRED AT EACH SIDE FOR ALL
SPAN & LOAD CONDITION & (2)
5/16"8 TAPCON XL ANCHORS TO

T
j - )
]

24 (MAX.)x1/4x0°~4 1,/2" A/um_.J
ANGLE W/ (2) 3/8"8 410 SS
WEDGE—BOLT ANCHORS W/ 2" Min.
EMBEDMENT TO POURED CONCRETE
REQUIRED AT EACH SIDE FOR ALL
SPAN & LOAD CONDITION & (2)
5/16"8 TAPCON XL ANCHORS TO
GROUT FILLED CONCRETE BLOCK OR £
POURED CONCRETE AT EACH SIDE FOR
ALL SPAN & LOAD CONDITION AND (2)

L)

D

(2)1/4"8 x 3/4" TEK SCREW

SI/’fi«\CH SIDE (Typ.).
e i

1/4"8 x 3/4" TEK SCREW TO STORM
BARS AT EACH SIDE.

SECTION §1

S1

SCALE : N. T. S.

GROUT FILLED CONCRETE BLOCK OR
POURED CONCRETE AT EACH SIDE FOR V‘
ALL SPAN & LOAD CONDITION AND (2) "3

o o
I
7 7
. ISt i s
/ 1 | BoTTOM SLAT
‘I ]
|
== | ()
|
: |
Q
8 |
" |
|
|
= | @
!
[

1/4"0 x 3/4" TEK SCREW TO STORM
BARS AT EACH SIDE.

POURED CONCRETE WITH 4
MIN. THICKNESS REQUIRED O)
GROUT FILLED CONCRETE ELOCK

SECTION V = V

WALL MOUNTING: SECTION V-V(i
INSTALLATION W/ FIXED STORM BAKS

W/CONCRETE ANCHORS

TEXAS DEPARTMENT INSURANCE-2006

N.T.8.

P.E, SEAL‘/,S/G;NATURE/DATE

ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55-X AND A—200-H SLATS DRAWN BY
WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER 03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166 5331 ORANGE STREET
PHONE (305) 871—1530 FAX (305) 871—1531 PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
TEXAS LIC. # 90691 DRAWING No
F[RM REGISTRA TION # F_ 13790 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
; . SHEET 5 OF 13




POURED CONCRETE WITH 4

MIN. THICKNESS REQUIRED

(fe=3000 p.s.i. MIN.)

EXISTING i
GLASS

SEE SCHEDULE ON SHEET 11 OF 13

MAXIMUM STORM BAR HEIGHT FOR THIS INSTALLATION TYPE

BOTTOM SLAT

POURED CONCRETE WITH 4”
MIN. THICKNESS REQUIRED
(f'e=3000 p.sd. MIN.)

-3.000" Min:

FOR 1/4"8 TAPCON ANCHORS.
OR 1/4"0 CALK—IN ANCHORS

4.500" Min:

FOR 3/8"¢ CALK—IN ANCHORS
FOR 3/8'¢ 410 S5 WEDGE-BOLT

/
4.500" Min:

ANCHORS

CEILING & FLOOR MOUNTING: SECTION V-V(2) INSTALLATION W/

FIXED OR REMOVABLE STORM BARS W/CONCRETE ANCHORS

( SEE SECTION "S” FOR ANCHOR TYPE REQUIREMENT)

SCALE : N.T.S.

SINGLE SPAN SECTIONS AND DETAILLS

ARE SIMILAR TO ABOVE SHOWN WITHOUT
STORM BAR & HEADERS.

POURED CONCRETE WITH 4°
MIN. THICKNESS REQUIRED OR.
GROUT FILLED CONCRETE BLOCK
WALL REQUIRED.

WALL MOUNTING: SECTION V-V(1) INSTALLATION

SCALE : N.T.S.

SECTION V =V

W/ FIXED STORM BARS W/CONCRETE ANCHORS

80 PSF AND (2) 3/8"¢ 410 SS WEDGE-BOLT
ANCHORS INTO POURED CONCRETE REQ'D.
FOR ALL SPAN & LOAD CONDITION. USE (4)
1/4"8 x 3/4" TEK SCREW TO STORM BARS
AT EACH SIDE.

1 1/2%1 1/2%1/8'%0"~4"
ALUMINUM ANGLE W/ (1) 3/8’8
410 S5 WEDGE-BOLT W/ 2 1/2"
Min. EMBEDMENT AT EACH SIDE.

_T"MACHINE SCREW
FULLY EMBEDDED

™~ ANCHOR

1" x 2% x 1/8" Alum. PLATE 1 1/2%1 1/2"%1/8 . 5 "
1" x 2" x 1/8" Alum. PLATE w/ 7{4”{3 TAPCON ANCHORS 34 34" STORM BAR DEPTH FOR /NSTALLAZ'/ON INTO CONCRETE, 750" .. 750"
W/ 1/4°8 TAPCON ANCHORS @ 24" 0.C. i/ Aum. ANGLE EA. ung(zé)lD ; /f‘o% qui)goc/\é A,;;g%%g AT
@ 24" O.C. _—t e e SIDE
S| /_57‘\/05/? 65 PSF.
’ A\
/ / N o FOR INSTALLATION INTO CONCRETE, |
LT TTSG 3 i AN | USE (1) 3/8¢ 410 SS WEDGE-BOLT .
i e N | ] o ANCHOR AT EACH SIDE FOR FOR ALL , }s» /2
0 SPAN & LOAD CONDITION. -
} ” \ } i AN 1
' ™ | ' &5 N |_FOR INSTALLATION INTO HEADERS
: / / /’ § %_ () i a g: USE (2) 1/4"8x3/4" TEK SCREW
; . / \ W/ PoURED cONCRETE wiTH 4" ~ 257 £ / e AT EACH SIDE. 5.25"
s I 3 \ [ M. THICKNESS REQUIRED in. / / ) N
[ e - I3y ; (3) 1/4° x 3/4" TEK
i | ) | | el ) f ~——=7 ///: / (:>0R @ SCREW AT EACH SIDE.
I 1 / | A
! ! / j by A i
! : 7/ l T flp======e==a=-= 2N SECTION S — S (FOR FIXED STORM BAR) _ EDGE OF ((3) 1/4"0 x 3/4” TEK SCREW
| | - A b 1 OPTIONAL SCALE : N.T.S. AT EACH  SIDE.
| l 7 o0 |ld S SECTION S2 — S2
1.000"—1! 1 | S —— AN S 1 1/2°%1 R’/g ’E%BX SCALE : N.T.S.
| in,) ! ity L T irdi ameyar—y aORM BIR DERTH be FOR INSTALLATION INTO CONCRETE,
P | it oPTIONAL ! I @ or @ ' : USE (2) 1/#°9X7/8" CALK—IN_*
I I ! i) / __~ANCHOR AT CENTER OF ANGLE EACH
I | + 000" { likel SIDE FOR ANY CONDITION UNDER 65 psf
I Y (in) | e 12" AND USE (2) 3/8"9x1 1/4” CALK~IN *
! | \_@ @ @ : I~ i =) ANCHORS EACH FOR GREATER DESIGN % S—
1 OR I LOADS. , ‘
', ! I il E:O A FOR INSTALLATION INTO HEADERS USE |
! il B s 542 LS % @ J NP (3) 1/4"8x3/4" TEK SCREW EACH SIDE. , e
! s ! 117 OR 0 X . = ~_7" ANCHOR
1 | if £ ‘ NP o <
] Hit ] EXISTING—=1 | Y 1/2" : '
el ~ o o . g ZNERED
| s GLIG) ol N L
I 1] . | —(4)o=(C) ' DETAIL A
| R | | [: OR SCALE : 1/2" = 1"
! e [ ] SEPARATION TO GLASS )
! g ! ! —— SEE_SCHEDULE ON —Hi 1 ECTION S — S (FOR REMOVABLE STORM_BAR)}* 1/4" 5-20 OR 3/8" 0~16 MACHINE SCREWS USED
‘ L a on S g G
sePARATION To 6L4ss i €21 i | e oR SCALE : N.T.S. JOINTLY W/’ 174" 0 x 7/5' O SN éfF//ﬁ
e a4 , ial | CALK—IN ANCHORS RESFECTIVELY SHALL BE L
ok | | N E— : )OR@ . 1B+ h (BEYOND) TOGETHER W/ ANCHORS AT THE TIME STORM BARS
; : L\IL ARE REMOVED. (SEE DET. A).
] I
A8 0O
il 1 i i
(BEYOND) 1.000™ 1.000", 1.000 1.000”, 1.000
; — (Min.) k@w @ POURED CONCRETE W/
| e i i 4" MIN. THICKNESS
| i@ h i t REQUIRED OR GROUT
| il 47 | s2 ‘ FILLED CONCRETE
I i | OR BLOCK WALL REQUIRED.
I il I
: il 'i\l*\@ OR@ an N T EDGE OF WALL
' gy ! 25" (MAX,)x1/4"X0'—6" [ \@OR®
L FL ALUM. ANGLE NE s
i T .,\,r | AT EACH SIDE = ) 1883
‘A X,
| M 'x@o&'@ 1 TEK SCREWS
) 1000 e : : : : ‘ E::m <2 EACH SIDE
! Mi st
l! (in.) ! A ! 45" Min! | soTom siAT
l P AR iy e e i 2%5"1/4" 0'—6” Alum. ANGLE EACH SIDE
k MIN. THICKNI EQUIR “*x5%1/4"% 0'—6" Alum. L.
s_|i s| s ! (Fe=3000 p.s.i. MIN.) W/ (2) 5/16" TAPCON XL ANCHORS TO SECTION 81 - 81
GROUT FILLED CONCRETE BLOCK OR POURED
\_CONCRETE WALL FOR DESIGN LOADS UP TO SCALE : N. T. S.

P.E. SEAL/SIGNATURE,/DATE

TEXAS DEPARTMENT INSURANCE-2006

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33186
PHONE (305) 871-1530 FAX (305) 871~1531

TEXAS LIC. # 90691
FIRM REGISTRATION # F-13790

ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55-X AND A-200—~H SLATS DRAWN BY
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 8800922, FAX: (281) 485-0839 10-035
DRAWING No

REV. No

DESCRIPTION DATE REY. No DESCRIPTION

DATE

3

4

SHEET 6 OF 13




2°%3"(Max.)x1/8" CONT. ALUM.

TUBE W/ 1/4'6 x 1 3/4"
TAPCON ANCHORS @ 12" 0.C.
FULL LENGTH TO POURED

24" 0.C.

X

1" x 2° x 1/8” Alum. PLATE
W/ 1/470 TAPCON ANCHORS @

TUBE W/ 1/4% x 1 3/4"

TAPCON ANCHORS @ 24" 0.C.

FULL LENGTH TO POURED

CONCRETE

B9,

POURED
CONCRETE
REQUIRED

7

2"x3"(Max.)x1/8" Cont. Alu

..

7

1* x 27 x 125" Alum. PLATE W/

/[ 1/4"¢ x 3/4" TEK SCREW @ 24" 0.C. TO TUBE

L

IRoloMG

CONCRETE
- <
P
1 -
POURED 300" l =
CONCRETE f
REQUIRED
y/ N -
- o
.
|
1.000" Min, l ! ‘
o
N | .
EXISTING GLASS——— l | | l |
SEPARATION TO GLASS !
EREEE
|
|
J

1.000” Min.

suo—our Tuse(Y)
(BEYOND)

REQUIRED

POURED CONCRETE (4”
MIN. THICK) OR GROUT
FILLED CONCRETE BLOCK

i
<} 2"x7"(Max.)x1/4" Cont.

IMINUM ANGLE

CASE |

G
@@

1.000”

EXISTING
GLASS

Min.

s3
i

|
|
y
N
N
|

|
N
]1
B

SEPARATION TO GLASS
SEE SCHEDULE ON

SHEET 10 OF

13

o
|

| -0
N\® (@)

suiLo-out TUBE(Y)
(BEYOND)

1.000" Min.

N
/

|
|
|
|
|
|

—

E “J\IF\GDOR@
f

@

POURED CONCRETE (4"_/
MIN. THICK) OR GROUT

FILLED CONCRETE BLOCK
REQUIRED

STORM BAR CONNECTION AT BUILD-OUT INSTALLATION : SECTIONS V- V (3)

1 1/2%1 1/2%1/8%
STORM BAR DEPTH
" Alum. ANGLE EA. SIDE

750" 750
FOR INSTALMT/ONS INTO TUBE &
HEADERS USE (2) 1/4°8 x 3/4"
e TEK s%esw
BARS &
Tvp. 12 2 P T 2 g ({ SCREW EA.
1 2l &.@
ey O
el 5 N O ®
7/2"! JJ e aa & = NN OR
e,

t
L

SIDE FOR STORM BARS

SECTION 83 - §3

WALL @ 3" O.C.
CASES

USE CONCENTRATION OF (3)
3/8% 410 S§ WEDGE-BOLT 70
POURED CONCRETE @ 3" O.C.
OR USE (5) 5/16"8 TAPCONS —
XL TO GROUT FILLED CONCRETE
BLOCK OR POURED CONCRETE

SCALE : 1/2" = 1"

TT_—

1 1/2" x

FOR BOTH

(2) 1/4"0 x 3/4" TEK SCREW EA.

SIDE FOR STORM BARS @) & (3)

1/47¢ x 3/4" TEK SCREW FA
GHG)

DEPTH ALUM. ANGLE (SEE SECTIONS S3~S3
AS APPLICABLE)

EA. SIDE FOR STORM
(3) 1/4% x 3/4" TEK
SIDE ‘FOR STORM BARS (E)

GIGLIO

1 1/2" x .125 x STORM BAR

" x 77 (Max.) x .250” Cont.
LUM. ANGLE (CASE ).

T

o

O O

=

——

RN

o/

’ 12.000"

3.000" 3.000" 3.000" 3.000"

|
!42.000'

12.000”

———G G

12" x 6" (MAX.) x .250" Cont.
ALUMINUM TUBE
(CASE Il ONLY)

ELEVA TIONA(\

SCALE : N.T.S.

1/4"8 TAPCON ANCHORS @
12" 0.C. (TYP. AT EACH SIDE,
BEYOND CONCENTRATION)

SCALE : 1/4" = 1"

¢ o 0 o o o @
e .
T T 53 %3 =
i ¥ ¥ ¥ pe ¥
! =i {] sy 2%3"(Min)x1/4” Cont. ALUMINUM ANGLE
W/ CONCENTRATION OF (4)1/4"8 x 1 1/2"
TEK SCREW @ 1 1/2" 0.C. AT STORM BAR
LOCATION, REST @ 12" 0.C.
7507 L 2"%6"(Max.)x1,/4" Cont.
ALUMINUM TUBE
TEXAS DEPARTMENT INSURANCE-2006
CASE I
ROLL—UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55-X AND A-200-H SLATS DRAWN BY
S ; - WALTER A. TILLIT Jr. P.E.
ey I PROFESSIONAL ENGINEER 03/10/10
NeDrees g ROLLAC SHUTTERS OF TEXAS, INC. DATE
BT A NPT 6355 N.W. 36 STREET, STE. 305
[ T P S A N VIRGINIA GARDENS, flL 33166 5331 ORANGE STREET
Jj/ / ‘?/ / Ve PHONE (305) 871-1530 FAX (305) 871-1531 PEARLAND, TX 77581 ,
‘ ' ‘ : PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
ke TEXAS LIC. # 90691 DRAWING No
. = oy ~ F’RM REG/STRA TlON # F— 13790 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
P.E. SEAL/SIGNATURE/DATE - 3
. - SHEET 7 OF 13




POURED CONCRETE (4" MIN. THICK)

REQUN RED

/////////

T

“x 2" x 1/8” Alum.
PLATE W/ 1/4"s TAPCON

11/2%1 1/2%1,/8% MULLION
DEPTH Alum. ANGLE (EACH
SIDE) W/ (2) 3/8% 410 SS
WEDGE—BOLT W/ 2 1/2" MiN.
EMBEDMENT TO SLAB.
(Typ. TOP & BOTTOM)

XIMUM MULLION SPAN FOR THIS INSTALLATION TYPE:

MA
A

Qo™

EXISTING GLASS— |

[e]

\ V2 1
S ! : )

N

Q/4 OR R/4

@ ore@ (ONLY FOR W-W(2))

(4) 1/4% x 1 1/4" TEK
SCREW EACH SIDE.

3%3°%3/8'%0'~2" (6061~T6 ALLOY) Alum. ANGLE
FOR SINGLE SPAN & 3'%x3"x3/8"x0'~4" (6061-T6
ALLOY) Alum. ANGLE AT MULTIPLE SPAN W/ (1)
1/2°¢ S.S. THRU BOLT AT SINGLE SFAN & (2)
i/2°¢ S.S THRU BOLTS AT MULTIPLE SPAN. USE
7/8" 0.D.x3/32" THICK WASHER W/ THRU BOLTS.

Q/4 OR R/4

¥

T—®*@

) 3/8" ¢ THRU BOLTS FOR GREATER LOADS
(Tvp. TOP & BOTTOM)

4

POURED CONCRETE.

REQUIRED (8" MIN. THICK) \

PLATE W/ 1/47 TAPCON
ANCHORS @ 24” O.C.

1" x 2" x 1/8" Alum.

\ /
/
. ) ‘\®

f

<@M@

3'%3"%3/8"%0'~2" (6061~T6 ALLOY)
Alum. ANGLE W/( 4) 1/4%x1” TEK
SCREW TO HEADER & 1/2°¢ 410 55
WEDGE—BOLT ANCHOR W/ 3" MIN.
EMBEDMENT TO WALL.

\ =@

ALTERNATIVE 1

WALL MOUNTING : SECTION W-W(3)

SCALE : 1/8" = 1"

0

NOTE;
VALID FOR ANY SFAN AND LOAD CONDITION

POURED CONCRETE-

REQUIRED (5" MIN. THICK,

D)

| 1
L—~4. 500" Min. Typ.

FLOOR/CEILING MOUNTING :

URED CONCRETE
REQUIRED (4" MIN. THICK)

SECTION W-W (1), W/O HEADER

SECTION W-W (2), W/HEADER

SCALE :

=

2°%2°(MAX)x1,/8" ALUM. TUBE W/ 2"%2°%1/8"
ALUM, ANGLE TO SIDE RAIL W/ (3) 1/4"8 x 3/4"
TEK SCREW EA. LEG

1°%2"%1/8” ALUMINUM PLATE W/

%"6 TEK SCREW @ 24" 0.C.

O@®

3% x 3" ALUMINUM ANGLE: | e [

; [
felid N
R IR

Er@—
ELEVAT/ON&

SCALE : 1/8" =

/®

Der®

ALTERNATIVE 2
WALL MOUNTING : SECTION W-W(3)

SCALE : 1/8" = 1"

POURED CONCRETE
REQUIRED (4" MIN. THICK)

2.5

ALTERNATIVE 2WALL MOUNTING :

3°%3"%3/8"%0'-2" (6061-T6 ALLOY)
Alum. ANGLE W/(6) 1/4"8 x 1 1/4"
TEK SCREW TO HEADER & 3/4°8
410 S5 WEDGE—BOLT ANCHOR W/
3" MIN. EMBEDMENT TO WALL.

NOTE:
INSTALLATION DETAILS SHOWN ON ALTERNATIVES 1 & 2 ARE VALID fOR
ANY STORM BAR HEIGHT AND HEADER SPAN CONDITION UNDER 175 psf.

TYPICAL HEADER CONNECTION AT ENDS:

SECTION W-W(3)
SCALE : 1/8" = 1*

NOTE:

VALID FOR ANY SPAN AND LOAD CONDITION

—

@@ORWM

3" x 3" ALUMINUM ANGLE ")

®

@ OR@/

ELEVATION

:::::::::::::::m
.‘ H—
H
~C i
Y it
\\ i @ OR
i
) ! ; (EXTENDED PASSED OPENING)
/ i 5.000"
S il — 100" 1.00"—~ |~
- H__® BEYOND - 3.000"—
I e S —————
——======= H Lo
. I
2500" bbo——z===-da _ .
I
O @] 1
=500 !
—1.750" oe@ H
I
;
2) 2'x4"x1/4"x0'~5" Alum. ANGLES TOP ' \_@ @
AND BOTTOM W/ (4) 1/4"8 S.5. THRU H OR
BOLTS TO HEADER & (2) 3/8"% 410 SS
WEDGE—-BOLT W/ 2 1/2” MIN.
EMBEDMENT. USE 2%%7'%1/4"%0'~5" /@
Alum. ANGLES FOR CASES W/3”
BUILD~OUT TUBE. ELEVATION
SCALE : 1/8" = 1*
2" MULLION'S DEPTH x1/8” Cont. ALUMINUM
TUBE W/ 2'%2"1/8"%0’-2" ALUMINUM ANGLE
70 MULLION W/ (3) 1/4"8 x 3/4" TEK SCREW.
2%2%1/4°K0"~6" Alum. ANGLE EA V4 - FA. LEG. (TYP TOP/BOTTOM)
SIDE W/ (2) 3/8" 410 SS 17%2"%1,/8” ALUMINUM PLATE W/
WEDGE—BOLT W/ 2" Min. 7, 1/4"0 x 3/4" TEK SCREW @ 24"
EMBEDMENT TO' POURED CONCRETE éc
WALL (4" MIN. THICK). USE (2)
3/8" S.S. THRU BOLTS TO
MULLION. | | S
;s = N
° looo}l / \
1 / - \
I ! ! O |
» W -/
4 il \ /’
H! AN J
= POURED CONCRETE - 1 S
REQUIRED (4" MIN. THICK) 1 1 i
4" | -
__________ y le/ ! : YT
| ; b - _I
__________ T | 1
! 1
! I L/vo HEADER & STORM BAR: ALLOWED.
” : ! JUST SPLIT ROLL UP MULLIONS &
nuliaaH : TRACKS W/ FACE MOUNT.
Min. | !
i
EXISTING — | I - oR @
GLASS ; ¥ <
| I
O
i
! 0 0o

SCALE : 1/8" = 1”

X1 Y& %1% 1,/8"CONT. ALUM ANGLE
/ /I/ \/_ W/ 1/4% x1/2" TEK SCREW @ 12" O.C.

POURED CONCRETE
REQUIRED (4" MIN. THICK) OR

I
2"x2"%1 /4"%0'~6" Alum. ANGLE EA. SIDE W/ (2)

5/16"0 TAPCON XL ANCHORS W/ 1 3/4” Min.

GROUT FILLED BLOCK WALL REQUIRED.

WALL MOUNTING : MULLION CONNECTION

-

EMBEDMENT INTO CONCRETE OR GROUT FILLED

=

®

BLOCK WALL FOR DESIGN LOADS UP 7O 80 psf
AND 9’0" Max. MULLION HEIGHT & FOR GREATER
LOADS USE (2) 3/8"8 410 SS WEDGE-BOLT W/
2" Min. EMBEDMENT ONLY INTO POURED CONCRETE
(4" MIN. THICK) & (2) 3/8"8 THRU BOLTS THRU

MULLION AND ANGLES W/ NO MULLION HEIGHT

AT TOP & BOTTOM : SECTION W-W (1)

SCALE : 1/8" = 17

LIMITATION.

SECTIONS W-W

- ‘“?%W ,,D‘*\

TEXAS DEPARTMENT INSURANCE-2006

Z%// ¢//,,,,V -

P.E. SEAL/SIGNATURE/DATE

ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55-X AND A-200—-H SLATS

DRAWN BY

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166

ROLLAC SHUTTERS OF TEXAS, INC. DATE

5331 ORANGE STREET

03/10/10

PHONE (305) 871-1530 FAX (305) 8711531 PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
TEXAS LIC. # 90691 DRAWING No

FIRM REGISTRATION # F-13790 ——— ™ pYeTy— s

3

SHEET 8 OF 13

4




INSTALLATIONS INTO EXISTING WOOD BUILDINGS

1/4°8 ITW BUILDEX TAPCON
ANCHORS @ EA. STUD OR @ 12”7
0.C. IF Cont. WOOD HEADER

WOOD HEADER
REQUIRED

1.000"

EXISTING AT

THIS LOCATION.

1" x 2" x 1/8"
Alum. PLATE AT EACH ANCHOR

1

N

\//

W

2.0

Min. ||

F@ OR

/

2

!

///ﬁx

(TYPICAL)

2" x 4" WOOD STUDS
REQUIRED ©® CORNER

2.000f Min.

\

1/4"@ ITW BUILDEX TAPCON
ANCHORS @ 6" 0. C. W/ 1
Min. THREADED PENETRATION TO
EXISTING WOOD STUD.

1/2”

2" x 4”7 WOOD STUDS

£0

£Q

RN

1/4”
Max. oR @
PIAN A (SECTION)
ExisTNG G1ass— | WALL MOUNT
SCALE : 3/8" = 1”
M eea
(SEE SCHEDULE ]
O SHEET 19) / / 2" x 4" WOOD STUDS REQUIRED ]
@ CORNER (TYPICAL)
[ / 1/4"8 ITW BUILDEX TAPCON — |
/ ANCHORS @ 4” 0. C. W/ 1 1/2” %
Min. THREADED PENETRATION TO ]
/ ‘ EXISTING WOOD STUD.
R 1/4°6 x 3/4” ITW BUILDEX TEK [
‘ , SCREW @ 4" 0.C. FOR SLAT @) OR — —
///////’ ’ 5" 0.C. FOR SLAT©® e
—Hh 2" x 2" x 125" Cont. ALUMINUM
\@ OR@ L g X ANGLE
- - @@
£ B asesa
S ' O
- N o .
o £Qleql | -
(@) e Y
1/4"8 x 3/4" ITW BUILDEX
e TEK SCREW © 4" 0.C. FOR
A e SLAT@ OR 5" 0.C. FOR
OR@ SLAT
PLAN SECTION

14

1" x 2" x .062" Cont.

Alum. ANGLE

1/4"8 [TW BUILDEX TAPCON
ANCHORS W/ 1 1/2” MIN.

\ THREADED PENETRATION @ Ea.
STUD

- WooD STUD
@ 24”7 0. C. MAX
REQUIRED

WALL MOUNTING INSTALLATION

INSIDE MOUNT

SCALE : 3/8" = 1"

REQUIRED @ CORNER

(TYPICAL)

1/4"0 [TW BUILDEX TAPCON
ANCHORS @ 6” 0. C. WAL
1 1/2" Min. THREADED
PENETRATION TO EXISTING

WwooD STUD.

-

P ——
i

@m 0

-+

PLAN C BUILD=0UT

NOTES:

SINGLE SPAN _CONDITION

N T. S

1. INSTALLATIONS ARE ONLY VALID FOR BUILDINGS WITH DESIGN LOAD UP TO 72 p.s.f.

2. FOR NEW FRAME CONSTRUCTION: WOOD MEMBER TO BE SOUTHERN PINE No. 2
W,/ SPECIFIC DENSITY OF 0.55 OR DOUGLAS FIR W/ SPECIFIC DENSITY OF 0.42.

SCALE : 3/8" = 1"

s
<t @OR@

2" x 4" STUDS 2" x 4" WOOD STUDS
— REQUIRED @ CORNER
(TYPICAL)
\
] I /J /
/// /
- I [
//
/
P
éé 1 2.000" ¥sin.
—
/ K
g |
£Q. ; £Q.
1"%4" P.T. SOUTHERN PINE
#2 OR DOUGLAS FIR WOOD 4

PLANK

Max.

Z@W@ (2)

PLAN C BUILD—QUT (OPTION)

SCALE : 3/8" = 1”

TEXAS DEPARTMENT INSURANCE—-2006

P.E. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871-1531

TEXAS LIC. # 90691
FIRM REGISTRATION # F-13780

ROLL-UP SHUTTER/ WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55—-X AND A-200-H SLATS DRawn BY
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
DRAWING No

REV. No

DESCRIPTION

DATE

REV. No

DESCRIPTION DATE

3

4

SHEET ¢ OF 13




SIAT PERFORMANCE CHART
MAXIMUM DESIGN PRESSURE RATING (p. s. f.) AND
CORRESPONDING MAXIMUM SIAT SPAN "L~

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

TYPE 1 SLAT TYPE 2 SLAT
RLL 55-X A=200~H SLAT
DESIGN | maxmum | MINIMUM MAXIMUM | MINIMUM
PRESSURE| "~ SLAT SEPARATION SLAT SEPARATION
RaTNG | SPAN T0 GLASS SPAN 70 GLASS
(pst) [ SINGLE & SINGLE SINGLE &
pt MULTIPLE _UNIT gt MULTIPLE_UNIT
MULTIPLE D MULTIPLE |~ JIND:
-3 =3
250 | 7-0" 7 6~0” ”
300 | 7-0" 1 59" 7"
35.0 7'-0" " 5'-4" 7"
200 | 7-0" 1" 50" 1
50 | -7 7 -8 1
500 | 6-3" 1 45" 7"
550 | &-0" 1 4-3" 1”
600 | 5-8" 7 41" 1
650 | 56" " 3-11" 1
700 | 5-3" 7 39" 7
720 |5-2 172" 7" 58" 7
75.0 - - 38" ”
80.0 - - 36" 7"
85.0 - - 35" 7
90.0 - - 3—g” 7"
95.0 - - 33" ”
100.0 - - 3-2" 7”
105.0 ~ - 31" 7
110.0 - - 30" 7
115.0 - - 211" 1
120.0 - - 211" 7
125.0 - - 2'-10" "
130.0 - - 29" 1”
135.0 - - 2-g” ”
140.0 - - 2'-g" 7"
145.0 - - 2'-7" 7"
150.0 - - 27" 1
155.0 - - 2-6" 1
160.0. - - 2'-6" 7
165.0 - - 2'-5" ”
170.0 - - 2'-5" 7"
175.0 - - 25" "
180.0 - - 2'-4” 7
185.0 - - 24" 7
190.0 - - 2-5" ”
195.0 - - 23" 7

I
= e s =
A
A = : 2 =
= =] D

SINGLE SPAN MULTIPLE SPAN

SPAN LAYOUT

NOTES: —MINIMUM SEPARATION TO GLASS FOR SINGLE AND MULTIPLE UNITS
SHALL BE MEASURED FROM BACK OF SLAT TO GLASS.

—WIND ZONES 1 THRU 3 AS DEFINED BY SECTION 6.2.2 OF ASTM E-19396-05

TEXAS DEPARTMENT INSURANCE-2006

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871-1530 FAX (305) 8711531

TEXAS LIC. # 906391
FIRM REGISTRATION # F—13790

P.E. SEAL/SIGNATURE/DATE

ROLL—-UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55-X AND A-200~H SLATS DRAWN 8Y
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
DRAWING No

REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE

3

<4

SHEET 10 OF 13




STORM BAR LOADING CHART. MAXIMUM DESIGN PRESSURE RATING (p. s. f.) AND

CORRESPONDING MAXIMUM_SPAN "L” FOR A GIVEN TYPE OF STORM BAR AND STORM

BAR_SPACING.
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

TYPE 1 STORM BAR

TYPE 2 STORM BAR

TYPE 3 STORM BAR

A/fé\g%l;vﬁl 2% 4" x 14" 2" x 4" x 1/8" 2"x 3" x 1/8”
PRESSURE
RATING ¥ STORM BAR SPACING ¥ STORM BAR SPACING *  STORM BAR SPACING
(p.s.%.)
$3-0" |3 T04 |4 T05 |55706 | <3-0"| 304 |¢T05({5T06 | <3-0"| FT04 )4 T05 |5 706
0097 | 10-0" | 10-0" | 10-0" | 100" 9"-0" 9'-0" g'-0" | &-11" 8-0" 8'~0" 8'-0" 7'-3"
35.0 10-0" | 100" | 10’~0" | 10"~0" 9~0" 9'-0” 9'-0" 8'-3" 8'-0" 8'-0" 75" 6'-9"
40.0 10-0" | 10°-0" | 10°-0" | 9-11" 9'-0" 9'-0" 8'~6" 7-9" 8'-0" 79" | 611" | 6-4”
45.0 10-0" | 10°-0" | 10°~0" 9'-8" g-0" | &-11" | 8&-0" 7'—4” 8'-0” 7'-3" 66" | 5-11"
50.0 100" | 10-0" | 9'-10" 9'-3" 9'~0" 86" 7=7" 6'~11" 8'-0" 6'-11" | 6-2" 5-8"
55.0 10°~0" 10°-0" 9=7" 8'-10" 9'~0" 8-1" 7-3" 6'-7" 7'-7" 6-7" 511" 55"
60.0 10=0" | 9-11" | g'-3" 8'-5" 811" 7'-9” | 611" 6'~4" 7'~3" 6'—4" 58" 5'-2"
65.0 10°-0" 9'-9" | &-11" 8-1" g-7" 7'-5" 6'-8" 6'~1" 7-0" 6'-1" 5-5" | 4-11"
70.0 10-0” §-7" | &-7" 7’-10” 8'-3" 72" 6'-5" | 5-10" | 6-9” 510" 5-3" | 4-g"
75.0 100" | 9-3" | 8§-3" 7'=7" 80" 611" | 6-2" 58" 6'-6" 58" 51" | 4-7"
80.0 9'=11" | &-11" | 8-0" 7'—4" 7'-9" 69" 6-0" 5-6" 6'—4" 5'-6" 4'-11" 4'-6"
85.0 9'-10" 8'-8" 7-8" 7=1" 7'—6" 6’6" | 5-10" 5'-4" 6'-1" 54" 4'-9" 4’4"
90.0 9-8” 85" 77" | &=11" 7’4" 6'—4" 5'-8" 5-2" | &5—11” 5-2" 47" 4-2"
95.0 9'-6" 8'-3" 7'-4" 6'-8" 7'-1" 6'-2" 5'-6" 5-0" 5'-9” 5'-0" 4-6" 4'-1"
100.0 9'-3" 8'-0" 72" 6'~-6" 611" 6'-0" 5'-4" 4'~11" 5'-8" 4'=11" 4'—4" 40"
105.0 9’0" 7-10" | 7-0” 6'-5" 6'-9" 5-10" | 5-3" 4'-9” 5'-6" 4'-9” 4'-3" 3-11"
110.0 8'~10" 7-8" | &~10" 6°-3" 6’-7" 5'-9” 5-1" 4’8" 5'-5" 4'-8" 42" 3'-10"
115.0 8~7" 76" 6-8" 61" 6’6" 5'~7” 5'-0" -7 53" -7 4'=1" 3'-g"
120.0 8'~5" 7'-4" 6'-6" &'-0" §'~4" 5'-6" 4'-11" 4'-6" 5'-2" 4'-6" 4'-0" 3'-8"
125.0 8'-3" 7-2" 6'-5" 5-10" 6-2" 5'-4" 4'-10" 4'-5" 5'-1" 4'-4" 3-11" 3-7"
130.0 &-1" 7'-0" 6'-3" 5'-9” 6~1" 5'-3" 4'-9" 4'-4" 14— 4’3" 3'-10" 3'-6"
135.0 7-11" | 611" 6-2" 5'-8" 6'-0" 52" 4=7" 1'-3" 4’-10" 4’2" 3-9" 3'-5"
140.0 7'-10" 6~-9" 6'-1" 5'-6" 5'-10" 51" 4'-6" 4'-2" 4'-9” 4'-2" 3-8" 3-q
145.0 7’8" 6"-8" 5'-11" | 5-5" 5'-g" 5'-0" 4’6" 4'-1" 4'-8" 4'~1" 38" 3'-4"
150.0 7'=7" 6'-6" 5-10" 5'-4" 5'-8" 4~11" 4'-5" 4'-0" 4-7" 4'-0" 3-7" 3-3"
155.0 7'-5" 6'-5" 5-9" 5'-3" 5-7" | 4-10" 4=4” | 3-11" 4'-6" 3'-11” 3'-6" 3'-2"
160.0 7=4" 6'-4" 5-8" 5-2" 5-6" 4'-9” 43" | 3-11" 4'-6" 3'-10" 3'-5" 3-2"
165.0 72" 6'-3" 5'-7" 51" 5'-5" 4'-8" 4'-2" 3'-10" 4'-5" 3-10" 35" 3'~1"
170.0 7'-1" 62" 56" 5'-0" 54" 4'-7" -1 3'-9" 4'-4" 3-9" 3’4" 3-1"
175.0 7'-0" 6'~1" 5'-5" 4'-11" 5'-3" 4'~6" 4'~1" 3'-8" 4'-3" 3-8" 3~4" 3’0"
180.0 611" 6"-0" 5'-4" 4'-10" 5-2" 46" 4'-0" 3'-8" 4-2" 3'-8" 3'-3" 3'-0"
185.0 &'-10" | 5=117 | 5-3" 4'-10" 5-1" 4"-5" 3'=11" 3'-7" 4'-2" 3'-7" 3'-3" 2'-11"
190.0 6'-8" 5=10" | 5=-2" 4'-g9” 5-0" 4’4" 3-11" 3'-7" 4'-1" 37" 3-2" 2-11"
195.0 67" 5'-9” 5'-2 4'~-8" 5'-0" 4’4" 310" 3'-6" 4'-0" 3'-6" 3'-2" 2'-10"

*

STORM

BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED.

TEXAS DEPARTMENT INSURANCE-2006

P.E. SEAL/SIGNATURE/DATE

WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871-1530 FAX (305) 871-1531

TEXAS LIC. # 90691
FIRM REGISTRATION # F-13780

ROLL~UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./AG.
RLL 55-X AND A-200-H SLATS DRAwN BY
03/10/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880—0922, FAX: (281) 485-0839 10-035
DRAWING No

DESCRIPTION

DATE REY. No DESCRIPTION DATE

SHEET 11 OF 13




HEADER LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING MAXIMUM SPAN "L~

(Ft.) FOR A GIVEN TYPE OF HEADER AND STORM BAR HEIGHT (Ft.).
(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

TYPE 1 HEADER @ TYPE 2 HEADER @ TYPE 3 HEADER
MAXIMUM 2" x 4" x 1/4” 2" x 4" X 1/8" 1" x 4" X 1/8”
PRESSURE
'Z*Z’\f’g STORM BAR HEIGHT STORM BAR HEIGHT STORM BAR HEIGHT
< 70" 7' 70 9 g’ 10 10’ < 5-0" 5 10 8 < 5-0" 5 70 7
300 OR s a e Y s s o . o o
TEss 15°=1 14'-0 13'-2 12’-0 11°-2 7'=1 6'-6
35.0 14°-9” 13-0" 12'—4" 12’-0" 10°-4" 7'=1”" 6'—6"
0.0 139" 2" 11" 0" g g 56"
45.0 130" 115" 10— 10" 116" 91" g 5_q”
50.0 o 010" 102" 011" 58" g 60"
550 119" 0" 910" 05" a3 610" 5_g”
60.0 11°-3" 9'—11" 9'-5" 10°-0" 7-11" 6’-6" 5'-6"
65.0 010" P o0 97" - 53" 5_g”
70.0 10°=5" 9'~2" 8-8" 9'-3" 7'—4" 6'—0" 5—1"
75.0 101" 810" 55" 811" g 510" 11"
80.0 g 57" 52" 55" &—10" 5_g" s—g”
85.0 9'_5" 5a 11 g5 67 56 g
90.0 Y a1 5" PRy 55" o g
95.0 8'~11" 7'-11" 7'-6" 711" 6-3" 5'-2" 4-5"
700'0 8'—*8” 71_811 7)_3." 7)_91) 67_ 7 ” 5,— 7 » 4’_3"
105.0 8'-6" 7’6" 7'-1" 7'~6" 6~0" 4-11" 4'-2"
170.0 8'-4" 7'~4" 6'-11" 7'-4" 5'-10" 4'-10” -1
115.0 8'—1" 72" 6'—9” 72" 58" 4'—g”" 4'-0"
120.0 7—11" 7'—0" 6°—-8" 71" 57" 47" 311"
125.0 7;_9:' 5'—70" 6;_6" 6'_17:; 5,_6,, 4:_6:- 3,_70”
130.0 7'-8" 5'—9” &'—5" 6'—g” 5'—q” 4'-5" 3-g”
135.0 7'—6" 6'—7" 6'—3" 6'-8" 5_3" 4'—4” 3-8"
140.0 7'—4” 6'—6" 62" 6'—E" 52" 4'—3" 37
145.0 7'=-3" 6'—-5" 6'—1" 6'—5" 5'—1" 4’2" 37"
150.0 7)~7:: 6»_3» 5,_77,, 6‘—4” 5:_0»: 4:_2:: 3‘—-6"
155.0 7 ~0" 6'—2" 5'—10" 6'—2o" 4—11" 4—1" 35"
7600 6'—77” 6'___7” 5:_9n 6;_70 4"70u 41_0» 3,,5,,
165.0 6'_9" 6'-0" 5'_8" 6’_0” 4'-9" 3:_77" Jy—4n
7700 6’,_8” 5"*71" 5:_7n 5'__77" 4'_8" 3'_77:1 3,_5,.
175.0 o " an” —pn Y __on 2 » ) an
6'-7 5-10 5'-6 5'-10 1'~7 3-10 3'-3 TEXAS DEPARTMENT INSURANCE—2006
180.0 6'—6" 5_g” 55" 5_g" 4'—7" 3_g” 3" ‘
185.0 o . P e pe T o ROLL-UP SHUTTER/WIND BORNE DEBRIS REGION W.C.V./AG.
: 622 28 54 58 ‘-8 59 5=2" A RLL 55-X AND A—200-H SLATS DRAWN BY
180.0 6'—4” 57" 5'-3" 57" 4'-5" 3'-8” 37" Lo WALTER A. TILLIT Jr. P.E.
PROFESSIONAL ENGINEER 03/10/10
195.0 6'-3" 56" 53" 56" 4'—4 3-7" 31" ROLLAC SHUTTERS OF TEXAS, INC. DATE
6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166 5331 ORANGE STREET
PHONE (305) 871~1530 FAX (305) 871—1531 PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485—0839 10—-035
GRS TEXAS LIC. # 90691 DRAWING No
. : o e FIRM REGISTRATION # F—13790 REV. No DESCRIPTION DATE REV. No DESCRIPTION DATE
P.E. SEAL/SIGNATURE/DATE , 5
- - SHEET 12 OF 13




MULLION LOADING CHART
MAXIMUM DESIGN PRESSURE RATING (p. s. f.) AND CORRESPONDING

MAXIMUM SPAN "L” (Ft.) FOR A GIVEN TYPE OF MULLION AND

MULLION SPACING (Ft.).

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

MAXIMUM
DESIGN LTYPE 1 MULLION (4'x6"x1/4") M TYPE 2 MULLION (4"x4"x1/4")

PRESSURE

RATING MULLION SPACING MULLION SPACING

(osf) <40" 4705 | 5'T08" $440" 4'TO5 5708

300RLESS|12 - 0 "|12'- 0 "|12'- 0 *|12 '- 0 "|12'- 0 "|11 '- 10 *
35 2°'-0 "|12'- 0 "|12'- 0 "}12 '- 0 "[12 - 0 |11 - 3 *
40 12'-0 "{12'- 0 "|12 '~ 0 "[ 11 '- 9 "{12 '~ 0 "|10'- 9 "
45 12 -0 "[12'- 0 "|12'- 0 "|11 - 4 "|12 '- 0 *|10'- 4 "
50 1220 "[12'- 0 "|12'- 0 "[10 - 11 {11 '- § "|10'- G *
55 12'-0 "|12'-0 "|12'- 0 "} 10 - 7 "|11 '- 3 "|9 -8 "
60 12'-0 "[12'- 0 “|12'- 0 "l10 - 3 *|11 '~ 0 "|g - 5 "
65 12 -0 "[12'- 0 "|12'- 0 "f10 - 0 "[10 '- § |9 '- 2 *
70 12'-0 "[12'-0 “{12'-0 "9 '~ g "[10'- 5 "|§ '~ 11 "
75 12'-0 "[12'-0 "{12'-0 "9 -7 "|10'- 2 "|§g '~ 8§ "
80 12'-0 "[12'- 0 "[11'-10 "| 9 - 4 "|10'- 0 "|8 '- 6 "
85 2'-0 "l12'-0 "|11'- 7 "9 -2 "9 -9 "lg -4 "
90 120 "[12'-0 "|11'- 4 "[9 -0 "9 '- 7 “lg -2 "
95 120 "[12'-0 "|11'- 2 " 8§ '-10"9 - 5 "|8 -1 "
100 2'-0 "[12'-0 "|10'-11 "| 8 - 8 "9 - 3 "|7 '~ 11 "
105 11 '-10 “{12'- 0 "|10'- 9 "| 8 '- 6 "9 - 1 "|7 '~ 9 "
110 11 '- 8 "[12'-0 "{10’- 7 "|8 -5 "9 -0 "7 -8 "
115 11 '- 6 "|12'-0 “{10'- 5 *| 8 '- 3 "g '~ 10 "|7 -7 "
120 11 '- 4 "{12'-0 "|10'- 4 "| 8 - 2 "|§ '- 8 "|7 '-5 "
125 17 - 2 “|11 - 11 "|10"- 2 “| 8 '- 1 "|§ - 7 "|7 '- 4 "
130 11 -0 "{11'-9 "|10'-0 "| 7 '~ 11 "8 - 6 "|7 -3 "
135 10 ‘- 11 “|11 -7 *|g '-11 "7 - 10" 8 '- 4 "|7 -2 "
140 10 -9 "[11 -5 |9 ‘~10 |7 ‘-9 *|8 - 3 "[7 -1 "
145 10 '- 7 “[11'- 4 "|9 '- 8 "7 -8 *g -2 "|7 -0 "
150 0°'-6 "|11 -2 "|9 -7 "7 '-7 "8 - 1 "|6 -11"
155 10'-5 "11°-1 "9 -6 "7 -6 "8 -0 "6 '-10"
160 10 =3 "{10'-11 “|9 '~ 4 "| 7 '~ 5 "7 - 11 "|6 '~ 9 "
165 10 - 11 "|9 -9 “|7 -8 "8 -2 "7 - 4 "|5'-g "
170 10'-9 "9 -7 "|7'-7 "8 '-1¢"7 -2 "5'8"
175 10°'-7 "9 -5 |7 -6 "7 '~11"7 -1 "|5 - 7"
180 10'-5 "9 -4 "7 -4 "7 '-10"7 -0 "|5 -6 "
185 10 -3 "|9 -2 "7 -3 "7 -9 "6 '~ 11 "5 '-6 "
190 0°-2 "9 -1 "7 '-2"7 '-7"6 -1 "5 "'-5"
195 0'-0 "{9 -0 "l7'-1"7 '-6"6 ' 9 "5"'-4"

SIDE RAIL ANCHOR SCHEDULE. MAXIMUM DESIGN PRESSURE RATING

(p. s. f.) AND CORRESPONDING MAXIMUM ANCHOR SPACING(in) * FOR

SIDE RAILS (P) & (Q) CONNECTION TO POURED CONCRETE OR

CONCRETE BLOCK WALL *

(USE MAXIMUM VALUES BETWEEN POSITIVE AND NEGATIVE LOAD)

SLAT TYPE 1 ((A))

(RLL 55-X)

Design FASTENERS ' SPACING "spcg” (in 0.C.)
PRESSURE| gupstrate | P (RLL-40) SIDE RAL Q (RLL-1) SIDE RAL
RATING WALL | INSIDE |BULD-OUT| WALL |INSIDE |BUILD-OUT
(ps? MOUNT | MOUNT | MOUNT | MOUNT | MOUNT | MOUNT
45 OR LESS POURED CONCRETE 8" 8" 6" 8" 7.5" 6"
CONCRETE BLOCK 7.5" 55" 6" 7.5" 6" 6"
>45t0 72 POURED CONCRETE 8" 8" 6" 8" 7.5" 6"
CONCRETE BLOCK 5.5" 4" 6" 55" 5" 6"
SLAT TYPE 2 ((C
(A~200~H) ( O )
Design FASTENERS' SPACING "speg” (in 0.c.)
PRESSUR | g pcronre | P (RLL-40) SIDE RAL Q (RLL-1) SIDE RAL
E RATING WALL | INSIDE |BULD-OUT| WALL | INSIDE |BUILD-OUT
(os?) MOUNT | MOUNT | MOUNT | MOUNT | MOUNT | MOUNT
80 OR LESS PQURED CONCRETE 7" 8" 8" 7" 8" 8"
CONCRETE BLOCK 7" 5.5" 8" 7" 6.5" 8"
>80 1t0 120 POURED CONCRETE 7" 8" 8" 7" 8" 8"
CONCRETE BLOCK 6.5" 4.5" 8" 6.5" 5.5" 8"
POURED CONCRETE 7" 8" 8" 7" 8" 8"
> 12000750 I ConcReTE BLOGK | 5" 7 & 5 45" 8"
POURED CONCRETE 6" 6" 6" 6" 6" 6"
> 15000195 I ooncreTE BLOCK | 457 35" & 75 r 5

* MAXIMUM ANCHOR SPACING (in.) AT SIDE

RAILS VERSUS EDGE DISTANCE = E.D.

DISTANCE.

MAXIMUM ANCHOR SPACING IS VALID FOR 3" EDGE

NOTES

1—. FOR MULLIONS INSTALLED W/0O STORM_ BARS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

REFER TO ELEVATIONS ON SHEET

1A OF 13

2—~. FOR MULLIONS INSTALLED W/ STORM BARS & HEADERS

A) MULLION SPACING SHALL BE SUCH THAT MAXIMUM HEADER SPAN SHALL NOT BE EXCEEDED

B) STORM BAR SPACING SHALL BE SUCH THAT MAXIMUM SLAT SPAN SHALL NOT BE EXCEEDED

TEXAS DEPARTMENT INSURANCE-2006

| waLter A TiLLIT Ur.

TEXAS LIC. # 90691

P.E. SEAL/SIGNATURE/DATE

PROFESSIONAL ENGINEER

6355 N.W. 36 STREET, STE. 305
VIRGINIA GARDENS, FL 33166
PHONE (305) 871—1530 FAX (305) 871-1531

FIRM REGISTRATION # F-13790

P.E.

REV. No

DESCRIPTION

DATE

REV. No DESCRIPTION

DATE

ROLL—UP SHUTTER/WIND BORNE DEBRIS REGION M.C.V./A.G.
RLL 55-X AND A-200-H SLATS DRAWN BY
03/16/10
ROLLAC SHUTTERS OF TEXAS, INC. DATE
5331 ORANGE STREET
PEARLAND, TX 77581
PHONE: (800) 880-0922, FAX: (281) 485-0839 10-035
DRAWING No

3

4

SHEET 13 OF 13




